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1. A company deployed a website service on Huawei Cloud. Recently, customer service reported
that customers in a western city in China are slow to access the website. In order to speed up
website access, the CON service of Huawei Cloud needs to be, and the website contains more
dynamics. Contents, which of the following configuration methods is recommended for tenants to
complete the configuration of the N acceleration service of this website?

A. Configure the service type for CDN acceleration with on-demand acceleration.

B. Configure the business type as CDN acceleration for website acceleration.

C. Configure site-wide acceleration by submitting a work order.

D. Through the configuration file download acceleration type CDN coffee acceleration

Answer(s): C

2. A customer's business systems are all running on the public cloud platform of company x. For
some reasons, all business systems are now being migrated to Huawei Cloud. Research on the
client hosts through cloud 100 units (the Windows Server 2008R2 and CentOS7 2 operating
system), 5 sets 8ySL database 5.7 data amount 10TB object stores data 100TB.

A. DRS

B. SMS

C. CDM

D. OMS

Answer(s): A,B,C,D



3. Which of the following is not a capability of the "Cloud DBA function of a Huawei Cloud RDS
instance?"

A. Database hardware tuning

B. Database deadlock check

C. Database engine check

D. Emergency database restart

Answer(s): A

4. Which of the following is not a capability of the " Cloud DBA" function of HUAWEI CLOUD RDS
instances?

A. Database hardware tuning

B. Database deadlock check

C. Database engine check

D. Emergency restart of the database

Answer(s): A

5. Which of the following description of the comparison between Hive and Oracle databases are
correct? (Multiple choice)

A. Hive is an open source and free big data processing tool, Oracle needs a commercial license fee.

B. Hive can be expanded to thousands of nodes, but Oracle can only be expanded to about 100 in
theory.

C. Hive is stored on HDFS, Oracle is stored on the local file system.



D. Large amount of data in a single table Hive can be partitioned into buckets. The large amount of
Oracle data can only be divided into tables.

Answer(s): A,B,C,D

6. The Huawei Cloud microservice framework solution can provide online code hosting services
in Git, supporting functions such as code management, branch management and CodeRevicm.

A. TRUE

B. FALSE

Answer(s): A

7. When users use the HUAWEI CLOUD ELB service, they can use the health check to
determine the availability of the back-end elastic cloud server ECS instance.

A. Whether the port check has timed out.

B. The number of bytes returned by the server of the ECS instance.

C. Special characters in the content of the message returned by the server of the ECS instance.

D. The status code returned by the server of the ECS instance.

Answer(s): A

8. Which of the following is not a problem with the monolithic architecture?

A. The code of each module of the monolithic architecture is developed with different technologies,
resulting in huge technical debts.

B. All modules of the monolithic architecture share a database with a single storage method.

C. All modules of the monolithic architecture are all coupled together, the amount of code is large, and
the maintenance is difficult.



D. The monolithic architecture is a completely closed architecture, and the system is highly complex and
cannot be scaled on demand.

Answer(s): B

9. Huawei Cloud Cloud Audit Service CTS is a professional log audit service in cloud security
solutions that provides the collection, storage, and query functions of various cloud resource
operation records. Which of the following scenarios is CTS not suitable for?

A. Problem location

B. Intelligence collection

C. Safety analysis

D. Compliance audit

Answer(s): B

10. Which of the following is not a capability of the "Cloud DBA" function of the HUAWEI CLOUD
RDS instance?

A. Database hardware tuning

B. Database deadlock check

C. Database engine check

D. Emergency restart of the database

Answer(s): A

11. After users purchase MySQL cloud database on HUAWEI CLOUD, which of the following
items need to be managed by themselves?

A. SQL optimization



B. Operating system upgrade

C. Highly available database

D. Database software installation

Answer(s): A

12. Among the following user roles, who is responsible for modifying the routing table and subnet
ACL to ensure that the database instance can be accessed by other hosts in the VPC?

A. HUAWEI CLOUD background administrator

B. HUAWEI CLOUD account owner

C. Database provider

D. HUAWEI CLOUD customer service representative

Answer(s): B

13. Which of the following descriptions about the characteristics of the real-time data stream
processing solution is wrong?

A. The scale of data processing is huge, and the data usually does not land.

B. Real-time stream processing is usually achieved through Spark Streaming or F1ink tasks

C. Real-time data requires extremely high analysis and processing speed, so the hardware CPU and
memory requirements are very high.

D. The data is stored in the memory, without the intervention of a cache system such as Rdis.

Answer(s): D



14. Which of the following features can be provided by HUAWEI CLOUD Application Operation
and Maintenance Management AOM? (Multiple choice)

A. Host monitoring

B. Container monitoring

C. Log management

D. Application monitoring

Answer(s): A,B,C,D

15. The centOS7.4 operating system is also installed. The public image of HUAWEI CLOUD BMS
bare metal service is different from the public image of conventional ECS server.

A. False

B. True

Answer(s): A

16. After the Pod in the HUAWEI CLOUD CCE cluster is scheduled to a Node, it will remain on
the Node until it is terminated or deleted.

A. TRUE

B. FALSE

Answer(s): A

17. An enterprise has three different departments, each with its own HUAWEI CLOUD account.
The HR department deployed a file sharing website to share the data of all on-the-job employees.
The business department uploads the employee's attendance data to their VPC database. The
finance department needs to access the HR department's attendance data to calculate the
employee's salary. Which of the following configurations can be used by the administrator of the
company to meet the needs of the three departments?



A. Configure VPC peering connection between business department and HR department.

B. Configure a VPC peering connection between the business department and the financial department.

C. Configure VPC peering connections in the finance department and HR department. At the same time,
configure VPC peering connections in the business department and HR department.

D. Because the accounts of the three departments are different, the VPC peering connection cannot be
configured to get through the data.

Answer(s): C

18. During the process of using the Huawei Cloud SMS service to migrate the host, if the user
reconnects after the network is interrupted, the previously migrated data also needs to be re-
migrated.

A. False

B. True

Answer(s): A

19. When users use Huawei RDS to migrate MySQL database to RDS for MySQL, which of the
following network types can they choose? (Multiple choice)

A. ELB

B. VPN

C. Dedicated line network

D. Public network

Answer(s): B,C,D

20. The business of a company continues to develop, and the amount of data continues to
accumulate, and data has become an important asset.



A. Cloud Data Migration Service CDM

B. Data Warehouse Service DWS

C. Table storage service CloudTable

D. Real-time stream computing CS

Answer(s): B


